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SECTION A: ANSWER ALL QUESTION [40%]

1. (a) Giving relevant examples define QUALITATIVE research [3]
(b) Describe briefly the outline of a QUANTITATIVE research proposal [10]

2. Discuss how as a researcher, you address ethical considerations before carrying out your 
research  [8]

3. (a) Here are the scores attained by the students in the recent in-class exam 
18; 100;27; 52; 85; 61; 68; 82; 54; 87; 91; 34;78; 93; 59

i. Establish the minimum, lower quartile, median,  and upper quartile and maximum
[6]

ii. Draw  a  stem and leaf  and Box-and-Whisker Plot to show the distribution of the
data [10]

iii. Which graphs describes the data best and why? [3]

SECTION B: ANSWER ANY THREE (3) QUESTIONS [60%]

4. Define briefly a questionnaire as a data collection tool [3]
(b) What are the characteristics of a good questionnaire [10]
(c) Briefly explain with examples why respondents may refuse to be interviewed.[7]

5. (a) What are the goals of Health Research? [10]

(b) Discuss the following:
(i) An experimental research design (2)
(ii) Descriptive research design (2)
(iii) Correlational design (2)
(iv) Exploratory design  (2)
(v) Before and after design (2) [10]

6. (a) Developing a research problem statement is the most important process in 
research, discuss [10]

(b) What do you understand by the term “Sampling” in research process and what 
are the advantages of sampling to a researcher?  . [10]

   7. (a) What is test of significance? [5]
(b) A teacher contacted a test in Mathematics for 40 boys and 40 girls in two different

schools and set out to determine whether or not the mean scores for the two 
groups differed significantly. Test the significant difference between the mean at 
level of 0.05, using the data in table 1 below [15]

Table 1: Students Performance

 Mean (Ẍ) Standard Deviation (Ơ)/SD N 
Boys (a) 18 2.5 30
Girls (b) 25 2.0 30



8 Reliability is one of the basic attributes of a good test
(a) Define with example the term ‘reliability’ [3] 
(b) Describe briefly two types of reliability [6]
(c) On Table 2 are the raw scores obtained by students on test 1 (X) and Re-test 2 (Y) 

administered by a researcher.  The researcher wants to know if test 1 and 2 are measuring
the same kind of ability in Biostatistics 

Table 2: Students Scores in Biostatistics Test
Name of Student Score in Test Exercise 

(X)
Score in Re-Test 
Exercise (Y)

Tendai 70 78
Lovemore 75 90
Victoria 63 77
Heather 80 69
Yemisi 92 70
Nyarai 77 76
Tsitsi 60 55

(i) Use the above raw scores to help the researcher to find the reliability coefficient of 
the test using Pearson’s Product Moment Correlation Coefficient (r) for raw data 
formula. [8]

(ii) On the basis of the computed (r), are the two tests measuring the same kind of ability?
Give reasons for your answer. [3] 
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	5. (a) What are the goals of Health Research? [10]

